

1 $y = 2x^2$ at $(1, 2)$
 $\frac{dy}{dx} = 4x$; $m = 4$; $m = 4$ (gradient of the tangent)

Tangent passes through (x_1, y_1)

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

q $y = 4x - 2$ (gradient of the tangent)

Gradient of the normal = -1 = $\frac{-1}{4}$

gradient of the tangent

b Equation of Normal $y - 2 = \frac{-1}{4}(x - 1)$

$$4y - 8 = -x + 1$$

$$4y + x = 9$$

2 $y = 3x^2 - 2x$ at $(2, 8)$

$$\frac{dy}{dx} = 6x - 2$$

for tangent $\frac{dy}{dx} \Big|_{x=2} = m = 12 - 2 = 10$
 $(2, 8)$

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

q $y = 10x - 12$

$m_2 = -\frac{1}{m_1} = -\frac{1}{10}$ for normal

b $\log(y-3) = -x+2$

$$y-3 = \frac{-1(x-2)}{10}$$

$$10(y-3) = -x+2$$

$$10y-30 = -x+2$$

$$10y = -x+32$$

$$10y+x = 32$$

3 $y = 3x^3$ at $(-1, -0.5)$
 $\frac{dy}{dx} = 9x^2$
 for tangent $\frac{dy}{dx} \Big|_{x=-1} = m = 10.5(-1)^2 = 10.5$

$$\begin{pmatrix} -1 \\ 0.5 \end{pmatrix}$$

$$y-2 = m(x-2)$$

$$y-0.5 = 10.5(x-1)$$

$$y+0.5 = 10.5(x+1)$$

$$y = 10.5x + 11$$

$$y = 10.5x + 11$$

4 $2p = 3x+2$

$$m_1 = -1 \quad m_2 = \frac{-1}{10.5} \text{ for normals}$$

$$y+0.5 = -1(x+1)$$

$$y+0.5 = -\frac{2}{3}(x+1)$$

$$3(y+0.5) = -2(x+1)$$

$$3y + 1 \cdot 5 = -2x - 2$$

$$3y + 2x = -2 + 5$$

$$3y + 2x = -3 \quad 5$$

b ~~$6y + 4x = -7$~~ $6y + 4x = -7$

7 $y = 1 + x - x^2$ at $(-2, -5)$

$$\frac{dy}{dx} = -2x + 1$$

for tangent $\frac{dy}{dx} \Big|_{x=-2} = m = -2(-2) + 1 = 5$

$$(-2, -5)$$

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y = 5x + 10 - 5$$

9 $y = 5x + 5$

Gradient of normal $= -1/5$ product of tangent 5

for normal

$$y + 5 = -1/5(x + 2)$$

$$5(y + 5) = -1(x + 2)$$

$$5y + 25 = -x - 2$$

$$5y + x = -2 - 25$$

b $5y + x = -27$

DINDYANITA ADAMITA JANET 19/MATH301/351

5 $y = x^{-1}$ at $(3, \frac{1}{3})$

$$\frac{dy}{dx} = -1x^{-2} = -\frac{1}{x^2}$$

$$\left. \frac{dy}{dx} \right|_{x=3} = m = -\frac{1}{9}$$

$$(3, \frac{1}{3})$$

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$9(y - \frac{1}{3}) = -(x - 3)$$

$$9y - 3 = -x + 3$$

$$9y + x = 6$$

$$\text{find } m_2 = \frac{-1}{m_1} = \frac{-1}{-\frac{1}{9}} = 9$$

for normal:

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

$$y = 9x - 27 + \frac{1}{3}$$

$$y = 9x - \frac{80}{3}$$

b $3y = 27x - 80$